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a‘t% % JE 4v Instructions to Contestants
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11.
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You should place your Admission Form on your desk for the whole session.

W FHR AT FRTF LA R U PR

During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.

ATE P LA EANEGET S FAAS o dap T AP o
Contestants should finish all questions in this 45-minutes written test.
&?%ﬁiﬁ%?ﬁ?ﬁ‘%%%ﬁéiﬁﬁ‘%%%%%‘@&%%°
Write your name, class, admission number, seat number and school name on the front cover of your
answer sheet.

SFRFTEMER Y L G E TR
You can only use the rough work sheet provided by the organizer.
FREEATES R FE
The use of calculators is NOT allowed.

FAAFEEREB A FRELFAL FRAI TS RFF A FHBTESS
Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.

AR AR A dehE A T E

Unless otherwise stated by the question, answers of fraction should be expressed in their simplest form.
FAEIREI > R R FNRTD BRI S LES

Under normal circumstances, contestants are not allowed to leave the contest venue before the end of
this session.

RO FRRIE G T AR SFTR
Any contestant who violates the rules and regulations of the competition might risk disqualification.
FEFAH O FERLREN FFEPRAPS LR AFFARF I FRAB 2 T
S BRI AL o % g IRF A Fenrg RN

If you have any queries, you should contact the officer-in-charge immediately after the competition.
Late queries will not be entertained. The decision of the organizing committee will be final.
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Time Allowed: 45 minutes
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1. K 2017=+4=+1—+ HIE -
K 4 8 25 125 JiE
Find the value of 2017£+41+1i+i )
4 8 25 125
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Total marks: 100

257)

(2 marks)

2. EAIW{EIEREECZ MR 20 EFRVER AR A NEEE NABEEZ R 75 » KSR {EE -

(2757)

The sum of two positive integers is known to be 20, and the product of their H.C.F. and L.C.M.

is 75. Find these two numbers.

(2 marks)

3. IHFAT BUSHVEHE ST 5 (%  [EHRAEERT T NFR - IGHVERR S5 215

SKEE 13 OB I e -

3 77)

Five years ago, Peter’s age is five times of Tom; from now on sixteen years later, Peter’s age is

two times of Tom, find the age of Tom and Peter now respectively. (3 marks)
4. BRZENHIES > KZHEGHYES 2017 15 - (€Fsp)
According to the following sequence, find term 2017 in that series. (3 marks)
5,9,13,17, 21, 25, 29, 33...
5. 2017 & 6 (HFET - BEEE R HIVET R/ VEZ/ VEH? (447)

Put 2017 chickens into 6 cages, at least how many chickens are in the cage which holds the

largest number of chickens?

(4 marks)

6. & 25 A1 60 ERLVH o4/ NI > r5e&fgm R 3{E - BEARER 4 & > —3HiE

/% DN ?

(457)

25 oranges and 60 bananas are evenly distributed to children. After that, they lack 3 oranges but

4 bananas are left. How many children are there at most?

(4 marks)

7. FEBANGRER T ERERE IR - IR MEE - ERISKREZEEA L
ER ~ RO NRRER SRR - B A ECRE H 2 DA R E B8] 7

(5757)

A dinner set in a restaurant is free to choose a main course, a salad and a drink. Today, the
restaurant offers five main courses, three salads, and six drinks for customers to choose. How

many different dinner sets can be matched?

(5 marks)
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O 8 A22A RETY 68 B » HIJ A (LRMEFZEZ /D ? 6 7)
If the four-digit A22A can be divisible by 68, find A. (5 marks)

CUNHE S E & 900 oK » —FIDK @M HhfkE - K ERE ) 30 0K » & 210 5K -
SKOK B FRIGHE AR E T 58 B ET %/ D) - 6 7)

It is known that a railway tunnel is 900 meters. A train passes through the tunnel at a speed of
30 meters per second and the train’s length is 210 meters. Find the time the train takes

in seconds from entering the tunnel until it leaves the tunnel completely. (5 marks)

FHEBE TR EKELEE - A 10 (R0 - HERENEBLEABKBIEE 5 - oK

() SEPRXZELLFEZL VS ?

(b) EEfEEIRLLBE AL/ VIGILE? (6 77)
A city holds a football match, 10 teams participate. If each team has to compete with other
teams once,

(@ how many games will each team play?

(b) how many games does the entire football match have? (6 marks)
WilE > & X BEE] Y BRHEAT S 4RA 25/ Dk © (6 77)
As shown in the figure, how many shortest routes are there from point X to point Y? (6 marks)
X
Y

FE SRR R A FIZE R 10 7T » WA A AT B — S B - B SEAgaR 8 7T » 4l
RE 6 N 4HWERGE - AR 70 BA 10 LRI 90 44/ NEA RS > /D E
fE%/DITEFIE ? (6 77)
The ticket of History Museum for an adult is $10, for children is $8, and a child can be
admitted free of charge with two adults. If you buy a 6 people group ticket, each person costs
$7 only. There are 10 teachers and 90 primary students going to visit the History Museum, at
least how much money they need to spend on tickets? (6 marks)

—EVUAr/ NV URE 7L A ZE o1& Ry 2.017 - JRARHYPUIL/ N %/ M AT REM: 2

(7 57)
After rounded to the thousandth, one four decimal places equals to 2.017. How many possible
solutions of the original four decimal places could be? (7 marks)
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s X~ Y ZEENWEAY  KEFEE > EFERE XOY =KX +Y) +K(X-Y) +K(XY) + K(é) °
CEH20©1=8"3K

(a) HHEKHYE

(b) 20© (3® 1) HIfH - (7 73)
Let X, Y be any natural number, K be a constant, the operation
XO©Y=K(X+Y)+K(X-Y)+K(XY) + K(é) is defined. It is known that 2 © 1 = 8, find

(@) the value of the constant K,

(b) thevalueof 20 © (3© 1). (7 marks)
TEFEAEZMEETTE ? (8 77)
How many rectangles are shown in the following figure? (8 marks)
{i& 101 %1 200 (72 100 & 5 A IAABRH TR EER 25/ ME 4 1Y 0 7 (87)
How many consecutive 0 at the end of the product of the 100 natural numbers from 101 to 200?
(8 marks)

S 15 s RA 15 [ 88 1Ay R - (Bt FER RS BRI E e -SSR
EWRNIEN NZHZ /DR AR AR TR ? (Closp)
Tom has 15 keys to open 15 locked drawers, but he did not know which key to open which
drawer. He will put aside the key once it open the relevant drawer, maximally, how many times
does he need trying to open all the drawers? (9 marks)

FoNEBIHARSEA 120 A - Hr 75 \EEFTEEK - 83 AZ#UK - 95 AEERET -
A LFER T EDEZ/ D NERGEEE =T5E) ? (10 43)

A primary school has a total of 120 primary five students, of which 75 students like playing
basketball, 83 students like swimming, and 95 students like running. At least how many
primary five students like all these three activities? (10 marks)

25t END OF PAPER
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